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APPENDIX 1: Answers to the Exercises

Lesson 36
X Lm(u(um A %el
Price : f5a8% | to cancel: * + > <)L ¥ % | rooms available: W’é %V | breakfast
Byilrd o
included: #& 1%
Lipn POEA

E % : signature | /% Z: bath | B#: stairs | 7 L ¥ » b #— k: credit card | L X b
13 <

% > :restaurant | ~ja X nights (stay)
waoldf

—E, W(HETTR?
Will you pay cash or credit card?

You can use any of the words in the table for Room
hELb L

THIEAN, #T HIC %—,/7:~;L§bﬁéu\tiaﬂ
?&it% %;ozlﬂoft\ifm\ FENIEZILLTHENIEA

/ez“ is a kind of summer kimono, quite light, used after the bath, or just to
W

relax (in summer). Many girls wear 4% in summer to go for a walk, specially
during summer festivals.

Come in! Welcome to the Kyoto Ryokan. Take your shoes off, please.
3 v

¥ A
BELBBRZIIA-TEOW(TT)

Lesson 37

TOplC bread | Sub]ect I (it’s not in the sentence, it’s taken for granted).

(%bl;t) Ao By %Ni?

% ToArNTT

I can eat cheese, but I can’t eat tomato.

It acquires the meaning of It looks like he wants to drive the car, emphasizing “to
drive” and implying that what he wants to do is drive the car, he doesn't want to

do anything else with it (such as get in it, clean it, whatever...)
rR BLE (BE 3ATA )
WITHEE, E2EEL -2 - Tw 5 (he wants to do it tomorrow, not another day)
i Bl (3% HIATA
BIZEAR, 2%%E L 72> w5 (hewants to drive a car, not another vehicle)
i Bl (3% HIATA .
BITEHE, E0EEITIL 25 T b (see question 5)
WhEAIA VDL WhIAZA 0w
BLIAT =7 FIA LRI T | pnrlt—7 ANES /%L
C A
BRI H 5, ?)éf)‘&k\

el iRA 5

EBENTEE(DY
I like her, she always wears clothes that are neither conspicuous nor discreet.
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Lesson 38
Fur( AP

BILARENHD [ HUET
bl A€ Qv =4
BUEIZANE AN ET
It’s not correct, because time adverbs that can’t be determined with a specific date
buhk

or time (as in % %, “next year”) never take iz. The correct sentence would be
HuhA Hu¥u X4LELS

EHF\ ﬁ‘*«%(%:j?&é’@?‘ % 2 Y 7.

KEF*/UZNE%*/VL ?*'?ra*o Falafzd

The first, with iz, indicates I'm drawing “on” the road, that is, directly on it (like
drawing on the asphalt or the sidewalk, for example). It is usage #4 (direct con-
tact) of iz. Whereas, the second one, with T, simply indicates 'm on the road
drawing, for example, 'm painting a picture on a canvass, or a sketch on a piece
of paper or a notebook, while 'm standing (or sitting, it doesn’t matter) on the
foad It's usage #1 (place) of 'C

é—b%mzw FEFA 7Tt

A& alz J’fﬁ‘L J v (TY)

[N HAY

REICIAREXGHSE/ HVET

Anybody can read this sentence.

T % has 3 usages: a) Mere combination of the particles T (adverbial comple-
ment) and % (also / neither). | b) With the meaning of “even” | ¢) With the

meaning of “or something” (manga-example g))

Lesson 39
. N e . 9] (=4 . x5 kir . . ,L’,Ii ThAL»
Ship: # | bus stop: /S 2% 1) 3% | ticket: 77§ | ordinary express train: £ €& |
IIXTA

crossing: % # &
(I Le trsle LTutx EAZAYE
72 % : vacant (taxi) | B & %: car | #§ £ 5 : reserved seat | #4% non—smokmg seat |
]
ﬁi’*"‘ (loose) change | & — 4 platform
IS0 LA

e WMEEET ?bf?ﬁh\ LT
Does this bus go to the Hiroshima Atomic Bomb Dome?
You can use any word in the table for “Transport” in the first page of the lesson.
WhiiABD V—~T—N 1%
b —& v JR oREFYITTa?
LAt B
ERE 1T’—w)f\ LT ?
THEHA f)]?‘%%&( LTLFwELE
The train going to Osaka will shortly arrive at platform 2.

It would cost 190 yen for adults, and 100 yen for children.
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Lesson 40
DRI vz BB

1- JALo & ﬁ*%l;tj:’ﬂ“(ft

vlLinh %%
2- liﬁﬁd)ﬁllfﬁof CEIN
brr

3- BHAONOE %'C ¢ 72 % o (Put a warm one on)

4- Do  you really llve in the town of Azuchz?
iz AL % XA s

5- gﬁ*/uliﬂ%:mA/'CL\ié’fJ“?gﬁ*/vli EDAREFATHIT

(o]

6- é‘fak*/\/@ﬂilif\x%lﬁt FL& /F%

7- Osamu hasn’t f nished his work yet.
POLE TIEA LA

XS
8- A AEE Z0FHC bk\i* FLE/ ot
9- Why don’t you drink your coffee? This A4 €4 is a contraction of ®» ¢4 and is

used to soften the question.

BWo X0 A

10- %7"%@4‘%%0(*((7“*&\

REVIEW FOR LESSONS 36 - 40

1. The shower in Nuria’s room does not have hot water.

2. No, the problem has not been solved, because Nuria had to take a bath instead of a

shower as she had intended to in the first place.
3. Ueno park.

4. Mina and Nuria are at Mita station. They have to get on the subway, then change
trains at Shinbashi station, and, after going past Tokyo and Akihabara stations, they will

reach Ueno.

5. Instead of buying the 330 yen-ticket she needed, Nuria makes a mistake by only buy-
ing a 150-yen one. Mina suggests that Nuria, upon reaching their destination, she use

the fare adjustment machine, which will allow her to pay for the balance.
6. She asks to be waken up at 7 am.

7. The receptionist asks Nuria if something has happened, because she looks pale. % £

T ¢ % v means “It’s nothing serious.”

8. The particle it indicates Nuria is stressing the sentence, that is, she wants to express

that her intention was to “have a shower,” and nothing else.
9. a) Apposition (1-5) | b) Position (1-3) | ¢) Possessive (1-1) | d) Descriptive (1-2)

10. a) Direct contact (4) | b) Specific time (5) | ¢) Existence (1) | d) Direction (3).
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11. 2, BOFWITE I B/ D ? “Say, have my bags arrived already?” | w2, %72
B Tw E A 2. “No, they haven’t arrived yet, (but...).” The verb in a sentence with
Z 72 is always conjugated in the negative because # 72 indicates “an action which has
not yet finished,” and so it simply wouldn’t be logical for the verb to be conjugated in

the affirmative.
12. It means “anywhere.”

13. It means “approximately.”

%3

SAIA

14aMVH»>zA|me%|d«?%IQAXIQN*Ig) %Uﬂr4v| = A
%Elﬂlb&~7.

15.a) 2| b) 4] ¢) 2.

»E > L {iEdurd IABA » ¥ it
16.2) 358 |b) 1.8%U |0 4.Ba R |d) 1 EH|e) 2.BRELHH /3. T2
. B Lo Ly s % hyd Bh
Fa—n|f)2amLEyy|g) 1% |h) 4888 |1 1.5 & &
RAIVA
17.b) u’ﬁf% [c) woT % |d)ﬂf% le) wW(HLTHorfIATHOr ¥2T% |f)u’§f
.
M?I? 5 A AL LA L
18. a) iz v, ﬁh%bjuﬁt%ﬁxi?b)%ﬂ%uﬂ%#bﬂ%iff?#?C)

i Th
WWE, YA PR TEE-TEVITEEA, d)Zyﬁb% FLAEN?

19. The correct order is 4-3-1-8-7-6-5-2.

o5 LADAZA LADAEA L Tugx [Feed

20.1) £T |2) 915 [3) &% & | 4) FEKE|)BER[6) B0

21.a) it |b) iz | o) #F
D »

d) it |e) s [Dix|g » |h)a )/ E/iz|ki/»
o) » /it |p)ix/ #]q ik |r) #.

m) #* | n) iz / »

»rPOL
22.b) 1T v, ﬁ&i{tli% AT —FEAEVE LAV, BRANTEATH R V|A) 3o,
i roOC
EORUEAETELE]e) WA, REITEABRENEL LA,

23.a)c:|b)f*|c)f*|d)t:/f*|e)t:/t:|f)f*|g)t:|h)f|i)t:|j)f|k)f/t:|
1) T|m) T /iz|n)iz|o)T/iz|p)ic

24.D) BT LA, BARV, |d7U%%Aﬁ%T%V€%ﬁTMi?|@%ﬁ
Z)~7’g X7 I

RITETAIV VBRI ELE | CCithornf R N2 Mz -0 | ) %4
BBERIAD/ —PIZZAUDTEARET V.
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25.a) O |[b)icor~ |t |d)n/o|e)id [f)&|g T/o/» |h)y/»]|i) %
[t ) /@ |ko/iz/a|l) % /ic|m)~oriz/%/iz/®|n)®|o) T/ % |p)
Bly /| Qi /id/~Noriz | /& |s)E /|y /o|wic/id/ /ol
[H 127 |v)&/hord /D% |wit/iz/k|x)ic/~oriz/D|y) D>/ D/liz]
M) miE/o/o|m) % /i,

z) T/~orii|1) O/

26.a) 3. 1 |b)2. T3 |c)4. 2 |d4. ~B|e)3. TH D2, ¢Chu |
g 1.%5 |h) 2. Ts%.

515t ¥ 3 [E @/
27.b) BERFRRTVEEA, |[ORETEHIELEZVEECET, |D)RIZEFENT

ry uwb b 4

375 ioh vy
THh, | 5HECLVEEEILAEL? D ECEF—TVET. 5OBRRATVIT,
28. Check by using the online kanji compilation.
20.%: 0 | #B3:2(3 | %33 | H:F | Frrveas | Rizas || 2oibhorn |
F Lo |E:TA|Buibrn [EvrBiun | s b,
30.a) 1. ¢ |b) 2. B3 |o) 4. Bv|d) 4. @3 |e) 2. % |f) 3. k%.
3l.a) 3. 2x%x2/4. xLxnAl1l. p3E4|b) 1. 30/3. &53|c)4. U
Y3Le/2. Tib.
32. A) HIIE:NWTA/ BE:TAL»/HE: Ln-lE> | D) @%: ¥ 3> [LER:
LATAT| O#E 219 L> [EF: DAL [ X XLRA EoTi2 5T |
dBE2 20l /BE (L) |[)EM: AL/ KT LoT/mArb LA/
Brbs (b,
33. L b: Mo 3 toclose| B v Ev heavy | 2 %: | train station | 2 ¢ Lw 5 : % F
learning | TA %: B4 electricity | I3 -1} 4 : £ K discovery.

34. 3% 55 | B3 13 | %F o0 |EF 2AL|ER TALY |2 ~0
P, orHe AuArn | BY bW | RE XU RE ¥ L.
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Lesson 41

L%#n%&b?b&in%%ﬁmtm(fi)

(S AR Tl I\\’)im*(& K)%Eh\f:‘\('C?‘)
C%ﬁw\£#b7bbﬂﬂﬁ§%EDEL%T?)

%li ETHENRWE %?L\i‘i‘

It takes about 10 minutes from Ebisu to Shinjuku by train.

[ IS FEINSYY 8

%b;]:j SADBANA /3%7)‘(2%6 AR ﬁ‘%ﬂt J €A /%U R AR
Please, give me a hand (somehow).

The film (called) “The Seven Samurai” is old, isn’t it?

It's the equivalent to ¥ \» 5. » T can also replace the particle ¥ (in its usage as a

marker for “quote”) and the construction ¥ 1.

Lesson 42
TH{ A » L ’) AT E
@ £ to wrap | F4: gloves | <L b :belt | v 7 b : software | &% : artbook | K #:
swimming costume | + — ¥ —: sweater
ith ¥
Suit: 2 — | scarf: v 7 9 — | discount: ?1 | doll: j\ﬁ; , 7 4 ¥ 27 | electronic

TAL LTA

dictionary: & Fi% #
A
Wi, BTws 2Ty

x50 [= J V-

[E#H] L0) FERLTOET

B

NINHFAZOXR T HYETH?

I want that manga over there, and that video game.
bhrl (i op

“@T/ﬁxuﬂmlfﬁai7#

ryx ih

COMBRIEADT VDL, @/U'C(f:”éu\
TAHAIEEA, INELLISLEPTLEIL

AR Thi  ITUhtb F7

%9 | 5% | s0% OFF

K

Lesson 43

LA
JarIAlggrdlnan
t 3 7 has the meaning of “apparently.” It is used when the speaker has direct
information (either visual or sensorial) on some subject. To this information the
speaker’s previous knowledge and his capacity for reason are added. It has a high
degree of certainty: what the speaker is saying is based on actual fact. An example:
b O)Z;\Kli L7770k )% (That person looks like a reggae fan). An
equivalent expression, but a little bit more colloquial, is & 7= \» 2.

HLk hd 5

BHEBUEWRARS7259
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M. Saito is very rich, isn’t he?
Lebtd

ﬁ%#ﬁwtbLu e .

No, it’s wrong. The correct sentence would be £# % » A I %% 2 % 5 72, because
you must add 72 after a noun (like ﬁ:;;-’f fi:) or a -na adjective. This is the first usage
of # 3 72 (supposition based on something read or heard).
xgé*ﬁuﬁ&ﬁw\é’am&m

That girl is wretched, isn’t she? (I feel sorry for that girl, don’t you?)
:@%SB&%nL(&ﬁ%ﬁf?

Shigeo wears blackish clothes.

Lesson 44
Transmve }{7_ 5, 3“ |Intran51tlve ‘fﬁ( 5%#46 Fﬁ( ?ié
1 ;an % |2, T, MR, AT

(FQN

A5, Ef i3, Hié Fﬁﬁx.;cé

R UATSINTES T

todA  TAE X

RH, BRAVAHL

It’s not correct because Fﬂ ¥ % is a transitive verb and needs a subject to perform the
action. If the sub)ect 1s ( window), then we must use the intransitive Verb Fﬂ 3% (to
be closed): : ’* i) Fﬁ $ 1) £ L 7= (The window closed). If we want to use F;Fl » %, we will
need a subject to perform the action, and then 5 will become a Direct Object
(marked with the particle # ). For example: %L I ”e? % Fz"] » % U 7= (I closed the window).
I could hear the bird’s voices (song) from the garden.

:@%ﬁ%#UK(mW?)

I want to start studying Chinese.

For example: h%btli}'; ;}{@ T % ,9%&) % (I decide the subject of the composition) |

Lpu Joh

ENCEOF 8 3/ 5% % % (The result of the match is being decided).

Lesson 45

Uchi: me, my mother, my sister, my brother-in-law | Soto: the tailor, the cook
(Although this will depend on the relationship with the family. For example, if the
relationship with “my brother-in-law” is very distant, it is even possible he may be
considered more soto than uchi.)
brlL BAL

AL FIihbdr T3

Gives: friend | Receives: Yumi
The verb ¢ #1 4 is used because the point of view is placed on the receiver, a

receiver who must belong to the uchi circle (“Yumi” is, supposedly, uchi).
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4- Both sentences have very similar meanings. The first one is I receive beer from John
and the second one is John gives me beer. The main difference is in the point of
view: while in the first sentence the point of view is placed on “I,” in the second
one it’s placed on “John:” that is why different verbs are used.

HrL v

5- BUEBRI/ALbVARVEEEET

6- h;biiﬂ'ﬁbl:i&(ﬁ’)% %Of\‘“” 7=

7- Mr. Adachi made a speech (and in doing this he did us a favor). The usage of ¢ 72
% % implies that the fact that Mr. Adachi has made a speech is a honor for us, he
has done us some kind of “favor” making it. Besides, using ¢ 72 * 3 instead of the

less formal verb ¢ &, 7 we show respect towards Mr. Adachi.
M HEL A n n N AN SO IR/

8 £~ | @wlwﬂﬁnﬂﬁwmﬂm

103 SA%LS

9- ¥EH, H3% Y @#amotmfwwﬁ BRELE

10- Hanshin Tigers, you must win this match (it’s an order).

REVIEW FOR LESSONS 41 - 45

1. According to Nuria, a “strange shadow” (1{ 7:L 2) appears in her photos. Mina tells

her the camera might be damaged (# # 3 #* % Fﬁ LTw3).

2. Nuria buys a sweater (£ — # —), a T-shirt (T v+ '), a pair of jeans (¥ — > X) and
[@e)
shoes (¥ ).

3. Yes, you can play them, because both Spain and Japan are region 2 (*/— > 2).
4. She pays by credit card (# — F).

5. No, she manages to get over the situation without erasing them, thanks to the inter-

vention of a young man.

B
6. In the first sentence, since the verb 3% ¥ 4 is transitive, “something” has to be
dropped by someone (in this case, the <> ¥ > p pendant). In the second sentence,
since the verb % /g\ fp % is intransitive, either “something” or “somebody” must fall (in

this case, Nuria herself).
7-a)M|b)H|c)H|d) M |e) H| ) both are valid | g) both | h) H.

8. They indicate the list is incomplete, that is, there are more elements which have not

been specified, and those that have been listed are more or less examples.

4L 240U
9.2) OB THEEIB IS LNERA |D) ZOBETHEERBLEDLITT | o) 20E
AL AL

THEEERLEEZ23TY |d) oBETFERZ LT TT.
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10. It indicates “hard to....” The phrase can be translated as “sizes in Japan are hard to

understand.”

11. a) Eé 7”5? {w hard to photograph / be reﬂected / 7”52 1} ¥ 3 easy to photo-
graph / be reflected | b) ﬁ o *\a@ ( v hard to steal / )\JM’)T W easy to steal | ¢)
@ZT @K Liz¢w hardtodrop/@?ﬁ LP3weasytodrop |d) B2t 5: Roiic
¢\ hard to find / 2211 ¥ ¥ easy to find.

(BRS¢
12.2) %Y v 7 [D) 4 x| ) F# |d)R & [e) TH D a-+ g 2-v [h) FL 2]
W
sxR|j) 79|k 2751,
Bzﬂhnélwiihé/xméld sl@ﬁ"?l@%?lﬂyﬁé|ﬁﬁé|
1ﬂ%ié|0ﬁ<|ﬂ%é|b%ié.

129 8¢ gobhol L
14a)2ﬁ%|b)lﬁ%£|d:$b§|d)&775—|@]”$?—|Dl.7vv—|
g 4vy [ 3. 77|h)2ﬁ Fli) 4.3 47 4 —.

i
15.b) ¥ |c) ¥z orrZh|e)vwor|f)#r.
[ ]
16.2) ={ XA D) sz iz | bz |d vTdordE #iz|e) = x4 | T or
[L R
I

17. The correct order is 4-2-1-8-6-3-5-7.

7?’)”0’g

18. 1)777—|2)%% |3)*7L47\|4)d ié- |5)1//|6)1ﬁﬂ|7)/\—’7’/|8)?1 |
9)77—I<‘|1o)‘§.

19.a) ¢ [b) »i | i/ 2T |d) 2/ |e) »
D/ |k /v |)»rs|m)r /v |n)ri

f)xlg) r|h)»/n»

v /ns|

ﬂ)@@ZLL|M%%6|®ﬁyzé|®ﬁLT|@%ht|ﬂAof|9£bot|
h)%&)é |1)1l:i%> |))1l:&>'(|k)i§l,f_ DB T |m)EA7 |n)BAOT/ B,

rHEEL VI ORA rOL S n
21.b) ¥ 7 XA 0REREREEZ2IEL (H) | ) BRADPE-EAH— MRS 12T
hbx Uwd A

T?Uﬂ|®%**A@ﬁuP*Lm&tmtﬂﬂ|a%$ Fe A} S TIZE %3

#%Lﬂi%ﬁ@®|ﬂﬁf'“B*A@%d&(%f%i(?Gﬂ|@%mAm$@*

INEX) %Atft;?(M)“ﬂ%EQVUﬂ%%AzggTéﬁﬁbbU\®th

and M are valid) | i) LIJEE‘SAMJK'C%@%% Rotk 7(71@ (H)|)) AIAXAIE

Lw%%%ﬁotﬁszhmMﬂmayﬁuﬁ/#At “ﬁmﬁ*A£%Mmmg
P

LaZw M) | D# REI-EACSLEH->TWRIELF0HY EEA (H) |m)wnry
F Y )
XA EALT2AODVDZEWE ) 2H (H)|n) MEOAXAGH LT T (H).
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22. a) 1.3 557 | D) dnrsrEwr | o) 2957 | d) 3.k | e) 3.biFr |
f)2.<fs§of:|g)4.>‘v>of:|h)1.<ﬂiu:|i)2.u\f:fswia“.

REAIN

2. a)ﬁuﬁ%mﬁ;i#ﬁ\% Ltz €4 |b) nd & —o 7 /U’C<f:§k\|c)A YL
'Uifb‘é@‘? |B rmrméﬁ\bud NIV VN bm%ﬁ&ﬁ%vﬂ%fw_ wle)
aao)/u;t? f‘)‘xl”I/u'GL\éﬁ‘B‘ REBNFEFZTFE S |f)89i XABITHE -5 L.

+
24.2) 2484 |b) 4.2 |c) 3.3 p |d) 1.arzvwn|e)2.020 |f)3.&LE|

g3 g|h)2.oxtLwvwzyg|)1.er eh ) a2k ars /5T 124
T|m) 1.%.

25. 45 LB [ e[ Rrva |[B | B v || vy |8 oa | x| A
xhn | B rd | G Fuo.

26.2) 1.ER/2. 8%V E/ 2413 |b) 4.4/ 3.4%|c) 4.8/ 1452 |d) 4.2
/| 2.F%|e) 4. FR/ 1.6F.

27.a) 40352 0¥) [ 1.94 /4.0 | b)3.08%/1.U6% | ) 1.LAZI /
4.54%|d) 4.3 Lo/ 1.0ALD

3ro
28.a) M RBLENFKRFETT |D) RURKOPIBT H wTuiEd |c) REXADIIC
b ¥ Y rOC Y

AXVRP VS |[d) KEEH0EFTERAEF2E 5TV 3 |e) R& XBOEC B FLC
PHELTEFETT D) bOARRPE-ERREF XN, FRTT L.

Lesson 46
Wt % zY T

1- BREFTHIC Hi'CL}%f:m\

(oAb X

2- BR%E %&k\f?]\ Hj'Cﬁﬁéf:

A &2

3- ZOXRUERELCLL 'Ci*h\f?
4- In the first one (& — )1 %E’?’ AL Eﬁ % % ) the central action is dancing, that is, it

(oAb X kR4

T
BREETIZMIHE T E0

would be translated as Let’s dance while we drink beer, whereas in the second one
BY 2]

(0B 5E—L#8E > ) the central action is drinking, that is Let’s drink beer

while we dance.

5- I/ he/ she fell asleep wzth the azr condztzonmg on.
Lo BX

6- ZHEBEUEHVNEY., %,H\z‘_ ﬁ%t LIl
b5

o B

7- :@Eli;}ku\ff %,h\f:
8- ¥z 5T, 354"(%@‘%& lei)‘?

5 b Eugo oo WA X WA X L5 L5
9- ¥u=¥ *|ji’t7&ﬁj(’c7*|7’c§ki£:‘r7’c§k‘§|ék\:‘é§
b0

10-%(1 X/H%Eﬁofh\éi’%é\[,’?@k\!

M
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10-

10-

Lesson 47

n;; ég dinner | éiu\ hot | ¥ T 3: to boil | ’a‘ s sweet | k;f (:to fry|%&> 5 : to stir-
fry E

Chocolate: ¥ 5 2 L — } | water: K | cabbage: # + ~ '/ | tomato: p < } | prawn /
shrimp: z U | omelette: 4 2. L v

i}f % % 13: soba noodles fried with a special sauce, vegetables and meat | # 1
stuffed rice balls (the stuffing can be tuna, salmon, umeboshi, konbu...) | ;ﬁi} Z};
bowl of rice with chiken and egg | K Nh: deep fried battered vegetables and fish.

EWIlA BT xn

You can use any of the following: # 4 2, K#, K&, ZL, J%, 8%, »>83L,
AR NATA Lr3w =iy I 3diEL

B, & U A ﬂ}kﬂé,dﬂ ER, Lok, B, fToF, T, bhso or H3 U You
will find their descriptions on the s5th page of L.47.

FARwAR, ERSE2ELERE—F (AT y
Any of the drinks specified in the sub table “Drinks” in page 25 plus ~ % B L
i?xETﬁ(E;m(B<:—7E<t§m/:~5éﬁgwti¢)
RELEREBHEVLET

It is the way shop clerks greet customers when they come into the shop. It is used
in restaurants, shops, and all sort of businesses. The customer doesn’t need to
answer anything when the shop clerk greets him or her with v &, 5 LU # v 4.

la‘é Y s’; E] and %‘ X ?ﬁ} ’] They are called thls way because, in the first kind, the fish
is pressed directly on a small rice base (a‘E % means “to clasp”), and in the second
kind, the fish is in the center of a roll of rice wrapped in nori seaweed (% { means
“to roll”).

The dish of Chinese origin called # + —/~> (¥# in kanji), or “Three-variety

fried rice” in English, costs 350 yen in the example.

Lesson 48
ro T 2 b
BrFEEILE (REEG 5T 3)

N %) D N %) D
DEBEDPHNTONEZNT, RKERLET | DY PHOTHENE, KERKET
Because I have fallen in love with Masao, (we two) let’s split (up).

BY A [P ey]

5= (i10), ’J LO*F’XE* PLBER

When I was hospitalized, I was sad.

Eat your food while it’s still warm.

1

Ji'éﬁu IFALTLESY

74&:1‘{07:0 ZLT NP FALILET T

Sometimes 72 7" & is used at the beginning of the sentence to show annoyance or
insistence on a certain subject.

It comes from the expression % # TlI (now / well then). It is actually used with

the meaning of “see you later” when saying goodbye.
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Lesson 49

e

xe
BEATOTLRHRYE, Béf)‘% DEEA

e

?)ﬁE/J‘?‘k\'Ck\é T#’LZ ?)éf)‘a% DEHA

BUATOTOAA, BENBYEEA

i+ ¥ & is very formal. 141 ¥ and #* are quite formal, but less than 341 ¥ %.
Finally, i} ¥ is the most informal version.

In this case, i7 ¥ is used to soften the sentence, to leave the rest of the request in
the air, thus allowing the interlocutor to realize what we really want, without hav-
ing to tell him clearly.

Although you like fish, why / how come you don’t like sushi?

Although she is an adult, she wears those kinds of clothes. The connotation is collo-
quial and disdainful, even pejorative.

IZIXA w IiZA T Y

BRICIT-TEEABEELT W

~AEEI B Rb
WCLEmMBELTE, A ELAV

HAEY (= 3] Bb
REZFALETFVVELE)

Mr Yamamoto is in the process of /s tryzng to write a thess.

ABHA~T4—#%5 T%‘ﬁ#&mﬁ#wm

Lesson 50

The relative clause is “who loved Makiko.”
i 52 HWv Brc nE 3L
ﬁ%W*Lt%(mgmmm—T?

E IR [Fo e

%#aotﬂ47ixt%§n|mmaotﬂ47uxtﬁﬁn
Both sentences are correct, because the 7' marking the subject of the relative
clause can be replaced with ¢ without changing its meaning in any way.
Is the case of him receiving a bribe from the yakuza true?

It means So that (I can) pass the exam.

vl TAVA £E
b?éf*/ulif“ﬁ ?)ﬁéi?_aot
tiA

alt iRy ru
I try to sleep 8 hours every day.
Japanese don’t distinguish between restrictive and non-restrictive relative clau-
ses. We must infer from the context what kind of sentence it is. For example, the
sentence # L — o At/ G)ZEL\L%»:K l;t;;é)’;& T4 can mean, depending on the context,
The house which has a large garage is big (restrictive), and The house, which has a

large garage, is big (non-restrictive).
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REVIEW FOR LESSONS 46 - 50

o ¥
1. The young man’s name is Tatsuya (£ t1). When they leave the store, he suggests they
go to a restaurant. After dinner, he suggests they go to a “love hotel” (3 7+ 7 1), a

hotel by the hour.
2. Nuria went into the manga store to take photos (FE % ¥ 2 DIZZ DJFIZA - 12).

»E
3. They order salmon ( L v ) and tuna (£ ¢ %) sushi (% ’J) and a tuna roll (ﬁ % ),
as well as yakzsoba (k;f % z1¥) fried noodles, yakitori grilled chicken skewers ( XE),
K E LD

gyoza dumplings (és*c:} ), udon noodles (3 ¥ 4 ), and miso soup (=74 t).
4. The young man doesn’t like sushi, while Nuria doesn’t like tomato.

5. Because neither of them likes one of the ingredients which are meant to be most typ-

ical in their respective countries.

6. The message is from Nuria’s boss, saying that the photos are not very good, and that

he hasn’t sent her to Japan to take such unappealing photos.
7. a) objective | b) adversative conjunction.

BbHLA
8.2) BH(HVWEEZLAZEDIZXY TERARNE S TR W|D) A4 v AD L HITh
2 |~7)‘§§€L\.
9. a) “While we were talking, it got very late.” | b) “Since he tried to snatch Nuria’s

3

camera (your camera), I thought: Tll help her.”” | ¢) “Nuria took some photos and
walked (among other things), full of energy.” | d) “The photos Nuria sent are not very

good.” | e) “Perhaps, you should send someone else!”

10. Because sometimes the 7* indicating subject can be replaced by  in relative clauses
(when there is nothing else between the subject and the verb of the relative clause). As it
has been mentioned earlier, the subject can be indicated with 7+ as well as ¢, but never

with |1, since relative clauses are subordinate and can never take 3.

11. No, these i ¥ and #* don’t have merely an adversative meaning, but instead they act

as sentence softeners, so that the sentence doesn’t sound too definitive or straightforward.

35 WL 5ebi
12. Utensils: + 4 7, 7 7 &, 1w, 8%, $%, 2, 7 + — 7, 4 | Herbs and spices: E’F

hiH LB
TF v w7, b L, #, | Fruits Wb 2, AL vV, 74, XCLAIR, 24, ﬁE,
RFF, L | Vegetables: b v b, 1ZAIZ(, Lo 2P0, BT, ICA LA, 1256, Fv |
X 24 il sl ozl
Meat: t?l*] Y- t—y,;%]* INL, AT —%, BRE, % P | Fish: E,L\f)‘ »roB, Rz,
ZiZALw

% ¢ 4, b L | Drinks: %Ié»\ H7x2AL, Va—Z, BRE V4, E—=N, K, T—t —.
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13.a-2 | b-6 | c-5]|d-1]e-4 | f-3.

[ XA ) o) LA ¥ iiind
14.a) Ev D) B | bxv|d) sLizy|e) k]| m|g 44 |h) sr |
L

D7427Y—0]) BE.

b % w3iind =%
15.a) 1.BR|b) 3. 8w |c)4.a—Et—/2. %% |d1.¥-E0v|e) 3.52A% |
Br3 A UL3

f) 2.8 % #.

Eodo

16a>%L*|M%5*I®¥*|®mm*|@ﬁ@*|ﬁxw«

17. The correct order is 7-8-5-1-3-6-4-2.

Tond iE L
18. 1)5’@ or ¥z |2)1T}\ orﬂ%a‘%la)&XM)%&)\%* Is)%‘EL s]|6)
%*U|ﬂﬁ$@| tm|9ﬁuhm@ mw%%aﬁftt

mnﬁﬁﬁ|wﬁg|d(ﬁu|®tbu|ﬂ%|ﬂ”8|@%u
20.a) iz [D)R o) L [d) Ty |e) o |D) e
21.a) =5z |b) 8 | o) Frvw | d) 0T |e)17%]t:|f) Hhe|g L.

22. a-2, b-3, c-4, d-1 | 1-a, 11-d, 111-C, 1V-b | 1-111, 2-1V, 3-11, 4-1.

R [ itoZA rEsEn
Z}Mu@%&fbé%@ﬁuim17| #%Ltﬁéd&f%ﬁ#mvf?|@i01m
gs3 0 2% HWOV
t?7ﬁuA%%Lt|@%um0%$mLmﬂﬁ%ﬁof(ﬂé%%*Lfmg|ﬁ§#
Y i Liodo

DE-ERILBrTEBO L Ig) EEDN/ODENN FEIBEL A0 .

24.a) 4.3%F |b) 3. o3 |c) L.oBs |d) 2.2Fiz|e) 3.20. /720 |[f) 1.2k
wilg) 4.%<T|h) 1.5huwrE|i) 4. 8L 005

hHPE L3
25.2) 4B, FELXAQOREBITOIL, #T7RAAIBX0n, |b)B2E oIkl
Ul 03 3t
XADBENLBTTHR, | ¢ fH, BRIV IXLORBRELIF-THTIL
B YA LA
|d) BEXAN /DR FHEIEI T, |e) TRERNERT, Bz L
Y5133 i Ny

KITEEL 19, |[DBORBELY 7T bOREEEIL LTS 2

26.a) 2.x 23T |b) 1z iz o) 14k H|d) 2. 290z |e) 3w [f) 1.3 Y|
g 472 |h) 2 |1) 3.2z |)) 3. 8~TE |k 1.3z D) 4.0 ¢ w1z |
m) 3.2hn5

27.%: B | Ms [ HE: L) |8 XA B 05 [ BA|Bo: A 0 % b |
Fibe |95 | R nsn | F:Th.

28.a) 1.&4E /3BT /3.8F|b)1.ag/28E |0 28R /4.5 |d1.8%/
1.%% |e) 3.4k /2.9,
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29. ) 3O LIV / 2.LA(H [2.L 1 | B)3.LebrIi/4a.mlD |
Q) LATVWA/ 2.8o84 |d) 4.2 LA/ 2.521).

rPOL X
30. a) THEBIZEL B\ L BICITE 4 |b) B XAEBSIXCT, BuRESETH
M RaN £
3|0 /\Ela>5'7f’%L\%%%%(o%LJT*a“|d)%@ﬁmmliﬁu?ﬁu\u\z%li?gi|
rPOLC Y

e) R4 3%, gm&+%%&i¢|ﬂﬁﬁ@¢ffﬁ%ﬁ&fumnam@¢m?

Lesson 51
X0d PoXr (Fue

1- B wallet | $é§z acc1dent | éit fever | %% or % E:pharmacy / drugstore | L »
NS & ray| :\.H?ﬁf heart | T'J* pain

Triv w YEwILe
2- Doctor E% | hospital: J“jlin | injury: 7 #* | ambulance: &% #% |cough: & % |
cold: & J’kiﬂ‘
[eR0X n
3- ThHEHAN, BEER(LILE
bri ur febel 14

4- BHER(T, BB -T, €30/ LF U EEA
5- It might just be the flu, but you need (to take) a blood test.
6- 100-8280 Tokyo-to, Chiyoda-ku, Kanda Surugadaicho, Block 4, Plot 6.

Lwd HAL®I
7- Gun: # | %% |t;<|~)l/|%vf]|/\/;\=
Buxonrih Burisd Bl Uil
Police: &=y |%*|W$|&§|%ﬁt*b|7ﬁ|ﬁ/|ﬁU

8- Idon’t understand it very well, so can you explain it to me, please?
brE vr (T4 0

9 BIRONL/OT, BE®HIT

10- ¥ is more or less the equivalent to our suffix -itis, that is, it indicates
AP 3 by i/(/

“inflammation.” In this lesson we have seen the following words with %: 8B %
%ﬂk A Wi A

(appendicitis) | & A % % % (bronchitis) | B % (gastrztls) | Fﬁx (hepatitis) | B %
b

1& NALIRAIA
(pneumonia) | % (inflammation of the ear) | % (rhinitis) | and B#RE %
(tonsillitis).
Lesson 52

1- There are three basic kinds of honorifics:

a) Sonkeigo or “language of respect:” It is used when talking with or about some-
one else, raising his or her position to express respect. The subject is the other
person (someone superior to the speaker or a stranger).

b) Kenjogo or “language of modesty:” It is used when talking with someone else
who is either superior or a stranger. The subject is always “I” or someone in the
uchi circle. The position of the speaker is lowered in order to indirectly raise the
interlocutor’s position.

c) Teineigo or “polite speech:” Polite way of talking.
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nu\«

L FAL 2} » » . R .
3:Boled | oTVwa: IHER|RL:BLLENS | &1F5: it doesn’t exist |
1"( WhHholL»h
w w4 3B ©w
P50 [Rr b5 |0adiTa |HRT5: 05 | A1 or &3
Professor Nomura is Wrztmg an artzcle
EnnslEons [ Rsns|kshs

I know the contents of that book.

o~

o

It is not correct because the verb = E* 27 5 belongs to the sonkeigo and is only
used when the subject of the sentence is someone towards whom the speaker
expresses respect. The correct sentence would use the verb from kenjogo with the

mwm bHrEL Zvr dubdA

meaning of “to ;ee > # B 7 2%, so that the sentence would be #iimE2#FE L
T, orh%fztl;t &é ;?Li L,%_AL\ 7 L % ¢, which is even more formal.

There is a shop with tasty fish there.

It would be correct if the teacher (ﬁ%ﬂ;‘) was someone in the uchi circle of the
speaker. For example, if the teacher was the speaker’s course tutor or something
similar. The translation of the sentence is: My teacher said he wants to ask you a
question.

Sit on that chair, please. Even though the construction “# + Root +¢ 7z X W’ isa
formal construction, it doesn’t belong to any of the three kinds of formal lan-

guages, but to the everyday register.

Lesson 53

~be I ~TLE) | ~TWI: ¥ES | ~4 % »: Depending on the context, it
can be the equivalent to the construction for “must” % 13 #1137 5 % v\ or to the
negatlve condltlonal LA\ h‘ hif.

[N

bz bz
u\?ﬁfilﬁkfuﬁbﬁﬁﬂtvﬁbﬁ

Buy me a car, come on!

Say something, ‘cause this is boring.

It is used to express the gerund in an extremely vulgar and rough way. % %? %’7;5’% ﬁl,
TR W5 A 1722 (What the hell / fuck are you studying?)

That house (over there) is very big. It is not grammatically correct, because the -i
adjective‘ 7 2 should become an adverb, replacing the last ~ > with ~ <, that
is: & O)L%g‘ 3 2 ( T2 wia. However, using ¥ 2\ instead of the correct ¢ I ¢ is
very common in modern spoken Japanese, and, therefore, to a certain point, it
could be considered “correct” usage wise.

That guy makes me very angry, he gets scared stiff right away...

%%%LT (N n? /%%%LT (MzEAM»?

Maiko, you’ve lost weight, haven’t you? or Maiko has lost weight, hasn’t she?

Wi
2 (5 < ) Yes (it is not painful).
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Lesson 54

Z 72wz is a more colloquial expression, it is used in conversations or writings
between friends or acquaintances. t 3 (= is more formal, it is used in writings and
conversations that require a certain distance from the interlocutor.

The only difference in usage is that, with J 3 |z, -na adjectives keep the 7%, and

that after nouns we must place ¢, whereas with z 7- vz we don’t need to use

anything.
4 4
Example Toﬂyllkeablrd %G)J: VAT R %J,f Wiz RS
Wi ELELY) WA EvELY) BB

3uﬁi*®;7 ﬁ%wly@%ukiiktw 2K 50

Wi REugnyy

CORUEREELY /"(iik\
Wi EVELY) B
@%liﬁ%”"'i?ﬁ/"ﬁ* < CLL\
WA EvEWYy Bu
CORBIREFY ﬂL(bt\/‘i’*k\
Wi Euwgnwyd AN
CORBREZINF 5 Lh *n\
Wi EVELY)
@ic‘ﬁjﬁ%”"'flic‘ﬁ%b/}‘jﬁ*k\ﬁ‘
Eudgunyd #rn wbIEABB TL“H‘L\Z’) #rn tok BB
:@K%zuﬁﬁf FRE2O| ZOREFIERTREIR SV
Wi
:@%uﬁ*?%é
AR AN TuTu
B Z: the worst | Eﬂf the beginning | & & : the best | &% : the lowest /
’iL\fL\ Tuled

contemptible, pathetic | &k : the biggest (most: &, big: X) | &/ : the smallest

(most: &, small: J)\).

Lesson 55
Y3524 K]
é};%l 200 | ’Cﬂff stamp | &5& castle | %;r exhibition | # L & > # — K : telephone
CLawohA
card | E}Jﬁ mail address | %mﬁﬁ art museum
TVWIA HuwrEruTAD

Flash: 2 Iy va| garden }% or FE[E | direction: 7‘,7’1" | cell phone: ## & |

street: & 1) | trafﬁc 11ghts /[:,—5
o LACH 0w A5 BL

THIEAN, %é@ﬁ)éﬂﬂ MENTCHEERITOWEETEEAD?

Follow this street straight on and, then, turn right. It is next to the police box.
TAAD LAZY 2% ¥

2 7o /7?‘?0'( %L'C3§E®4a‘5€’15 \ﬁﬂ/)‘of( I
Le LA

TLIRADN, $UEOBEERZL->THOWTTN? F—-X |

Braouvsion I XATO

RALIBREZFEDHIHCAEIL

To send a letter to Spain you need a 110-yen stamp.

The process to follow to pray at a t?%%i‘h: 1: Purify yourself, washing mouth and
hands | 2: Sound a bell to let the gods know of your presence | 3: Throw a coin or
a bank note into the %%;’é: offertory box | 4: Bow twice | 5: Clap twice | 6: Bow
once | 7: Pray

Ema (%‘/‘ E) they are wooden votive tablets you can buy at Shinto shrines. They

have a decorative drawing on one side. On the other side you can write a wish,
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and then you must hang the tablet with a string on a special place so that the wish
comes true

10- Zen (ﬁ) it is a very widespread sect of Buddhism in ]apan | Koan ( % ): asort of
Zen riddle with an apparently cryptic meaning | Zazen (% fé ): the act of sitting for
hours on one’s knees, in an uncomfortable position, while meditating. | The prac-

tice of Zen Buddhism is some sort of way to reach the ultimate aim: enlightment
Ry
or & 1.

REVIEW FOR LESSONS 51 - 55

1. The taxi driver speaks in keigo (formal Japanese), and uses its three types, depending
on whether he wants to raise Nuria’s position to express his respect (sonkeigo), lower
his position in order to indirectly raise Nuria’s (kenjogo), or simply talk politely (teinei-
£0). This way of speaking is typical of someone offering a service to a client, as is the

case here, or in extremely formal occasions.

2. The beggar speaks in vulgar Japanese. He uses this register because he is of course

not a very polite character, with hardly any consideration for other people.

3. The specialty is blowfish (3. ¢"), a very typical dish in Osaka. According to the taxi

driver, everybody says the blowfish in that restaurant is better than in other restaurants.
4. Nuria has no preference for any of them; she likes both Tokyo and Osaka the same.

PALA
5. The beggar is afraid of suffering from hepatitis (A % ). He has a fever. Nuria suggests
Lad B X
he might suffer from food poisoning (é& UT;%), because he reveals he has eaten a

boxed lunch which he picked up from the garbage.

6. Nuria is happy because the beggar’s words have made her reflect and discover that all

her mishaps and seeing things were due to the fact that she avoided facing her problems.

7. The taxi driver is confused because Nuria has not answered the question correctly.
When asked the question 47 - T 2 7= ¢ T4 » ? (“You don’t want to go?”), in spite

of wanting to go, she answers in the Western way i1\, 175 T 7= (“Yes, [ want to
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go”). She should have negated the negative question the Japanese way by first disagree-
ing with what was asked, then giving the positive answer by replying \»\» 2 | 175 T
= (“No, I do want to go”).

8. a) Sonkeigo | b) Kenjogo | ¢) Teineigo | d) Kenjogo | e) Sonkeigo.

3Z D €A

9.a) L rELEFTE D20~ ATT | ¥ T0BRTT A, ToTVBATT
Ny B
PRI OEERNRY TV N EEATOIEAL, | ©) bREIFLLEDOT, &
[
B> TBOEETTT,

10. 556-0002 Zuboraya, 2-5, Ebisu-Higashi, Naniwa-ku, Osaka-fu.

w LD Bwdley HA X AE S R NI+ Ly TAHD O LA
11.2) F i, % H, #BE| ) ,,&,1*r'ﬁ|c)ﬁ7i»7, A== =Ty b, 8 TE AT d) B X,
IR A IR L,t(famz( x5 23 (kD TA Epl N BWIA
J%ftT R, B %] ) %a,jaﬁ‘%,z%zilf)%& AN L, E | g) B, B R, 4
2=

wd Lrd ) AN )‘O/J/(/

12. a)milb) A B Ko gE Id)Ea"Fﬁle) FEIf—fﬂlf)ﬁllrlg)jﬁ\Z| h) )%LZ'

Lyap 3 05d w LS/ i L X./(/ C 0T v EIBLIRA BED oron

Bawﬁwra:ﬁ:WﬂEW)¢ﬁ SHE= E#%%ﬂrkhﬂik:%:%ﬂE
VAo T2z % LA RN A 15} AN, N PAREA PAEID
hbém:mﬁ:WﬂcldT%:Hﬁ:Wﬂalﬂamfa:a:ﬁﬂclgﬁkﬁmﬁ

LA/ A *tiA C PnArInr o [F4N L3 » u
SHAE D) EXSESHAREEHE |[) Freoelz (S5 b BRE.
5 p) X m\b
14a)4$%|b)3¢‘&% |C)17Ki§§‘€|d)235%n<l,|e)l74}1/A|f)3%|

HWELTA b

g) 2 {zt/ |h) 1.% % T,
15.a) © % | b) ’}: Lo F-x|d)Fuviii.
16. The correct order is 1-5-7-6-8-4-2-3.

5 A i35 FOBA Lz LA Z 2w A X
17.1) v [2) B or BB or B8 |3) 68 |4) B [5) R & |6)#E|7) =L |8)
TLLF—|9)KAT.

WwiHun L o» FRAA
18.b) (T) 551t VB3 AR Y TEELLBRARTT L. |[O)Arg i Li=n», B
ngo Lydun 5

=05
%4592 | d) (K)HEICRYREEZREE20OTT N | e) (S) . AN XA, TAI
LY IAfFEEdr? [0 (K) 73840, 60200 EA0FPERTENWTT
7?2 ]g) (Sand K, one part each) (& 7t - L2 I v e T T T,

HBYE

HE, FLIALES>THEOWTTN?
[ECANUE N Wit =
193)3%u%im $%ﬁ@tittﬂﬂlﬁﬁuﬁ Eiﬂfui?|d4ﬂm

Zh L

*Alibt(&t HELF, R THERTLEL?
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20. b) PEHEALUANRSOTT, | ©) ALY ILUATRAL CHVURTOTT |
Uwd Bu
DTAJL WS B TR LWIETLUDPILOTT, |o)—BELtEMIERL ¢ b

WEWTT.

21.b) WE T TR YREL BT,
j\lih\/){i’:ﬁ:g"ck\ij‘o

OHADIREIIADOIRIUBOL VWL ER
d v abr AT ab e ABYSROEATIISY 24,

Lol

WHITA
22.2) YY) IL e AR IADETELENOELOFTT, |b) o —% 475 R
EAR WHITA
RNLTT,

)b LOEREIBRNDPT—EL vy FRALL ! |d) =2+ Y71
% A ok L3

ERTHRIRIVWETT.

23.b) 55 THL 5, %O)Alit'cgﬁféiﬁmmf“?io ) HbOFYIHYIr~iT-T
Lzuvnilrad,|d 729-020n38E2THHEVTT... RICHEZ AL, |
) BUEEIRMOE-LERATLENE LAN? ZRERATECYZEAL L] D) B2
BRI RN EEE o ThIT AL EoTuE A 2HERSORTTA?| 8) 555
I hAAED IR TOEADEUBELACAIE LREEARL| D) BAE, borw
A EPCTUES DL LY TEBELANDTT | [DAUBASBI €A1 DD

3rs
Brounde)EEA L.

[N I
24.2) AiBZIATERECRVO? [Bildn, TE5A(A0L ! | b) ERIRITRIZY
Lrsu xz
EAROVTT, ) RUESOEELREVWERALEWTY, |d 60ARENLILE
3 hcz

Fr, |e) £ERELTuET(BELIIE->TVET). | REBIURSVHYTT

faz

%3 LR o
or I RRYREABVEYTT or HIX RL Y ADAZI0EHTT.

25.2) 1.13¥ |b) 3.ubslenzt o) 2.2z |d) 2.0z |e) 1.Ebn3 |
4.3 ]g L.sgEursLev |h) Lagv i) Lo ]j) 4.0k 3.87%3 )
3.Boleorz|m) 1.0k iz,

26, #: 202 | A 0E(C) | £ X | LU | E22(C) | F 2 ()| #: & | &
REW| R BE(L)| Mg | kv (23) ] #: 2(Y5B).

27.a) 1. &7/ 1.4/ 228 |b) .EH/ L Fb |c) 448/ 4480 |d) 1.BL
| 2.8% |e) 2.0/ 2.9k,

28.2) 4. 053 1CA/ L. Le>54 /3.0 |b) 3. 53513/ 1. 5384 |0
3.Updinalegn/ 2.3 |d) 4 Az I s/ 1559,

29. a) HPORBEOMICET > T(EX0A | b) ZFO#RF v EA VI RENKITL 2
L7 [0) 20RO KIEARTT |d) 2 O X ADERE B L T2 %57 AT
W) BETCRELTIKAXVTAVWTOLETAL ! D ZofEXeEREHL T A XY
TEADN?



Appendix 1 Answer Key 21

10-

Lesson 56

14 14 14 14 14 14

IR, N, RAFEL, REBL or REOLE 5

WA X WA X WA X WA X WA % WA % WA X

TRB: LAY, TEARL, TAFE-EL, TRAEL OT TRABR OB L OF TR KD
WA %

> 7=5 Orﬂlﬂa/uf of”

P P B AT B AL B4 B4

i&iﬁulﬁéﬁﬂu|ﬁ%éﬁ%mu|%é%mu|ﬁ<@
WE LD | BRI | AL e Tl
On opening the door, the dog went in. | When I opened the door, the dog went in.
If he isn’t tall, then I won’t make him my boyfriend (I wouldn’t go out with him if he
weren’t tall).
If you dislike the class, go out into the corridor.
If you are going to school, give my regards to the teacher.
Excuse me, whom should I make my order to?
If I were you, I wouldn’t do that.

I would like to go to Greece. | Then go this summer.

Lesson 57
»AB

K/u&yéi%%‘z'(b\é/i?‘ﬁ‘
3z B
"@%%T 7N oriz %mf(#*m

»and z v
brlL i 3 B
i3RI ‘T<y2:%7:4r?t7”:

el

%QQV/ﬁ%MAE:ZﬁQm
The first sentence says either Mika has never drunk sake or Mika has never had the
experience of drinking sake, whereas the second one says either There are no occa-
sions when Mika drinks sake or Mika never drinks sake.
HELLLIIED BAPL

AN EERT B LICE o

The first sentence says Mika herself decided to drink sake and the second one says It
was decided that Mika would drink sake, that is, someone unrelated to Mika deci-
ded something that affected her, probably against her will.
It is just that I want that handbag! The nuance of # 4 is of excuse or even tantrum.

X 0 0 0 0

LHEROCEOTT N | | 2BEROBATTY | [FBEEROEAD | |4 FEKON !
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Lesson 58
The three expressions indicating “only” are 7214, L #* and i£ 1) .
a) 72 14: Indicates the meaning of “only” in a neutral form.
b) L »: Has a negative nuance, similar to “nothing but.” The verb in a sentence
with L 7» must always be conjugated in the negative.
c)if» Adds a nuance of “excess” to the idea of “only.”
Li]?u;of_ HE u;Li |Lj]\§%;’ﬁol, bia %% FRw
I not only like women, I also like money.
Yamamoto does nothing but play wdeogames (and I think he does it excessively).
Tbt%ﬁqu# tlTbt%%LEZvét
Which is the most interesting moment in the movie?
L;‘ &é%%é&i%ff
A% iwn ES
Now, I have just seen a movie: /-\“ B REYIAE
Now, I’ mwatchlng a mov1e Pe KM\ BrHTwsrI5]f
n"A 7 ﬂ‘iﬁﬂf_tﬂ\f‘ ﬁ TUD o

By the way, are the cats that were in the city / town well?

Lesson 59

“Translation” of the Kansai dialect conversationon page 313.
Iyt

./U-—)\SA/ %bh&/)‘of‘?
oIy, U/vli@)?)’f*{i?f)‘%of:@f...

X A4 »
eRAFNI FNL ey, E—ILE-YZIN?

i o
e, EFH I BAKDOL VWL
AL

o$%ﬁ?&&f@@?%ﬁm!

eI—-J TS, TI(JIF0EA

oL N HLE I L, BIET

e HUNLIIVW(LESL), IN?

Exercises

Kansai-ben is the most used Japanese dialect after the standard Japanese spoken
in the area of Tokyo. It is used in the :&-& reg1on, which includes the prefectures

qL2r BBIA Br3T Qb hﬂ%i LA
of &, KK, /\E AR, fER, %% and = é The main c1t1es in the region are
BBIpr % ¥ 3 AIVNA BB IPNA
Rk, ‘f;t %F and %‘%’ F among others. The main sub dialects of 55@5% are KR4,

rorN4 TN,

F#H and #F #.
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2-

55 TAU .

Within Japan itself, there are several clichés about the Kansai-ben or, rather,
about the people who speak in the dialect of Kansai. Among them, the most pre-
dominant are the economic (they say people in Kansai like amassing and hoard-
ing money with stinginess), the criminal (they say there is high yakuza activity
and much organized crime in Osaka), and comedy (Osaka is the capital of i;—%}t \, a
kind of comedy performance very popular in Japan). Therefore, in novels, manga,
movies and TV series, the yakuza, comedians and merchants usually speak in
Kansai ben as an “unspoken rule.”

{“ nb l:t%l;t T 13 ﬁ%f_ w1 really hate tiring jobs.

;&béa ey ijf)‘ ¥ T 27 WO T, »*/F 1 % W% Because there are many people in Umeda,
you can’t walk.

J’févﬁ‘li/\/ﬁ‘i EBLENAIDIWVIT, ﬁo'CliZFﬂ)‘AﬁC

This is Kansai dialect. It means You're not going, are you?

When you are in Rome, do as the Romans do.

A \IBL"%L“%‘Eﬁ is a kind of compact proverb, generally borrowed many centuries ago
from China, consisting of four kanji characters. Example: L\:—% l:fi%j To kill two
birds with one stone.

Modern ]apanese:h%:btl;t é}ké X A,(%E)G) YIANTTI WD TT,

English: I'm not going to the place where Mr. Oda (is).

ujol:ﬁ,éz 7;; exists to a certain point, since it is basically a variation of the dialect of
Tokyo, which is nowadays standard Japanese. It hardly varies from standard
Japanese, except for a few small characteristics that have been filtered into the lan-
guage used by the inhabitants of the island of Hokkaido through the influence of
the Tohoku dialect. For example, the usage of the end-of-the-sentence particle <,
or some words like = 5 2 (son) or & A 2\~ (handsome / beautiful), typical of

IR NA

R4 .

Lesson 60
BY BY In In = = =9 =9
WH WMo |BBINE | RRBRNON3 |27 3bbN3B
HA #AEL
BuxEECEHLNE
Literally, I was cried by Rina (and that meant a problem for me). A more appropri-
ate translation would be Rina cried ( and Ididn’t like it)
B i3

WA LD | B BAEE | RNB: RS #D | I btd
~NALpILe Iofh BA%A O

REAIERZERANIDVE
In two ways: 1) The teacher let me draw a comic book or 2) The teacher made me
draw a comic book. Depending on the context, it can have one meaning or the

other.
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BY BY In In = = =9 (=)
7- W5 HoELoN3 BRI ELNE [ RN ARIELNE [ :bELN5
8- I was forced by her to buy a ring.
9- Write a composition, each of you, on Japan.

10- It was because there were readers, that this book could be done.

REVIEW FOR LESSONS 56 — 60
1. In the beginning, the vendor wants 2,000 yen for the jar, but in the end Nuria pays
1,500 yen for the same jar and two bowls (oddly assorted, because there were no match-

ing sets).

BB INNA

2. The vendor speaks in a Kansai dialect (%5 %};), the Osaka dialect (X R #) to be

precise.

KA 503
?% ), standard delivery (3 ).

B 2

3. Nuria ends up sending the package by airmail ( Q)%

4. Because Nuria remembers they quarreled on the phone over a silly thing, and she feels

bad about leaving Japan without apologizing, since Mina has helped her out so much.

5. Because Nuria’s lost baggage finally arrived, and she has taken the opportunity to

deliver it to Nuria personally (and, presumably, to try to patch things up with her).

TAFD X5 X TA

6. Mina is in the coffee shop on the third floor (Z ¥ 2% J£ ), and it is Nuria who goes

to meet her.

21 HhebhA
7-1L.:50L, 20&%E-15. 20FmE 153 T If you buy this jar, I'll give you this
BPAR

H oA
bowl as well. | 2. —2 0 XBm % &> T hhif, %2 T (L If you sell me two bowls

4

(doing me a favor), I'll think about it.

8. a) By what kind of mail should / shall I send it? | b) Now that I mention it / Now that
I think about it, I argued / quarreled with Mina on the phone. | ¢) (I'm) in the coffee
shop on the third floor. Why don’t you come? / Won’t you come?

9. a) I was about to forget my computer. | b) I was forgetting my computer (but not any
more). | ¢) I had just forgotten my computer.

(=9 ZAYS

10.a) WL WETH, $57-2 |D) FhIAE TS ET L, £HTT, EHTT

bLebA
(W ZHEA), |O) cARERII— L2 dY EEAL.

» «

11. # 5 & T < 72 X\ causative conjunction. “Allow me to apologize, please,” “Let me
apologize, please.” | & {f 2* & & #1 /=: passive-causative conjunction. “He made me rea-

lize.”
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I3 LEA

12. Proverb: F;EF )\ > TIx gz 38 2 1 “When in Rome, do as the Romans do,” Yoji-
jukugo: T—xH =8| “To kill two birds with one stone.”

AL

R
13-b):mm@<5t.c;m<ws ofméAt‘?|C)tykﬁ’*zﬁﬂau\7)\‘?$é
2| d) BABANT o EAREBY, BELALVIAICZE-TLE L |e)aw7%)\t;t

iTAY
iil—%é?t:"()!iu\%“!é’étflif:’&)ffil | ) Bt TEN2LIAT, ZOME-TK
bH X

on
NNy 7, KiFxrEL! | g 4BREREL.COREZTEX L2570 | h) FA
XABOWERAL  TEWYELT S Y30 EL(EBsle o).

23 CwIich ¥ vh CwA 39 FAEA

tZ tre
14.2) HEBEE|D) + At+&|c) B AREN|d-—F=8.

w3 A

15.a)3.§§1§Ib)Zgiﬁﬂw\'@fpé|c)z @ % |d) 1“(,;7 |e)41/%3“6|
f) 3.8 |g) 3.4 %é%liﬂ\%l‘afflh)l«v%mél‘f’\ |J)l élk)zwrc ﬂrl
D1.8s351c

16. ) 721 |b) W2y | o) Eny or 24 [ d) En ) |e) iy [f) La | g 7 | h)
LA i) s

17. The correct order is 3-8-1-5-2-6-4-7.
b 07T L & [0 WER
B )& T[2)wF [3) @k |4)B|5) RLV[6)EE[7) ¢ 5 [8) Fris

19. T, G0, B0 ¥ 5, 813, BrEond |gNli,§Af£B,i§§lfﬁé,glf
ns, i;fc:fﬁ‘bma |ﬁm:{ Horb, Tndgs,{To0ns, Trdbns | ﬁ:mli,;t/u
75, &t&ﬁé m:wné BREL N |;tfm;t Eolkb, EbE 5, K603, £EHHE5
n3 |/?tali,ﬁtotb,/?tibﬁé,/?t#ohé,ﬁtibt“b?ﬂé |ﬁ=fu ﬁ—-ot ﬁt’dé
#Hrhns, ﬁf.ﬁbﬂ'ﬁht\ﬂli 5Rf_ L RXEE, RbN3, %*ﬁbﬂél@&ﬁli,@éﬁ
Lf:b,;@éﬁiiﬁé,;gz*hé,fgzﬁﬁbiﬂé | A, A0, R385, 810
nBBETEL RS | R ’\li RAED, REES, RIS, RITE 5 A3 | Eold, 4
f:“b,Eiﬁé,Eihé,EiJ@‘bhé.

20.b) 1.20F7 AL BEBOLAsEL, BHIACERRTELLEL [)8AL5H
WA

25y, BRAGBEATYXENF TS | d)FraXAdz7ar2Buinlinrs

IR) ~ P 3t

by, PREFESTL(EIN |e) HREARTZ LRVEL, FEORKEZ LT E X

21.a) ifon |[b) s Tt | o) b3 Tya|d) dghnid|e)iFun ) =L |g »it|
h) 5 zu.

raL
22. b) ﬁ&égli% YHiT T\~1I/%H)‘(b 4 7= “She made the boy plck up the ball.” / “She
allowed the boy pick up the ball.” | ¢) Z ose@E (L wai;r Sé*%‘ Lo THEL NS
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“This film was made (directed) by Yasujiro Ozu.” | d) #13 :fg; w2BMe s 1
was made to wait by her for more than two hours (She made me wait for more than
two hours, and this annoyed me). (Note: It’s a “victim” passive.) | e) & ® RIZ{T17 i,
%’Z %t‘ EXE5N50OT, {757 ¢ 4w “Since they make me clean if I go to that house, I
don’t want to go.” | ) D AlZ b % ) &‘L/\“Km%: M & & 5 ¢ 72 “That man made the
poor dog run for several hours.” | g) * L liﬂﬁg;é: BOTLE P EEbE LN “Twas
made (by her) to buy her an expensive present.” | h) }2‘ %)%i‘?& IZH - 1% 033? l%TjﬁZ%iﬁ /9
F #17= “My milk that was in the fridge was all drunk (Someone drunk all the milk I had

in the fridge, and I didn’t like that at all).” (Note: It’s a “victim” passive.)
23.a) 3@ |b)zr|ogse|d) zr|ezr |HEn|g e (F)|h) v i) zr.

hh@ﬁ&éIMﬁmeéorﬁ&thﬂﬁ&tl®%AﬁméI@ﬁtlﬂ%tlg
P5OrP5THS.

i i
25.a) RIETBAZLrEHRBE VL, or BEBRBEET RS L, |b) sOAISA 7%
IATA BIX A E
BETLIVERIAE, $CEZA2B0ET L, o) AESAUHLVWAZE( Y
2% w3 A/
ELELE. | BLWIABEOROTRALL I AV |e) REIBRIAICESE

+
LEZELNRE, |[DTHIIARBEALVDIE, GVWEDOEES>TEIY VS L]

26.2) 4.5 |b) 3.x A o) L #abnr|d) 245 |e) Ldnid | 3515 |
L2y

g)2.5L [h) 1.snrifc|i) 3.8nnrk|j) 4.2 |k 3.20Lr|])3.5Ens|m)

1.2 %.

27 F () | #Fr oo a(wd) | s(3)|gixn(3) | 288 | F2:x(3) || £ 5o
(23) |z M) | ZipAr(2s)| B r=(Ts)| % 2=(25).

28.a) 1.5% /3. EA/2.%& |b)2.F&& /1.8 | 1.8M/ 3.82%|d) 4.4/
4 E% |e) 2.HR/ 1.4855

29.a) 2. W/ 1.LTAL® /3.202(|D)1.558%/2.00nTA|C) 334
¥y /455 |d)3.23520¢/2.Ln I,

yx@ﬁ&mtmu@ﬁu%#L@ﬁﬂﬁaeam|w%%‘%@ﬁ%@%%u%uit
O 2oBMiEe A IAOTRENEALTOS ) s F bz A BE
Erubsirin.le ok, FIcHrEIoEbnTus [ ahrnl ZEo
RER-T(EILL

3LAFT o7 |FInd brhd [HE LAY) [ HB ~udA | BF L) | &1
BB bEV|EE 2OTA|ER Ly L sl

AT




